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Seat No.: __________                                                 Enrolment No._____________ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering Semester –I/II Examination Jan. 2012 

 

Subject code: 310034                                    Date: 16/01/2012 

Subject Name: Mathematics-I 

Time:  10.30 am – 01.00 pm                                      Total Marks: 70 
 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered Authentic. 
 

Q.1 (a) Fill in the blanks  (Not necessary to show the calculation) 

 

(1)  log 1 . log 2 . log 3 . log 4 = ---------------. 

(2) 3log
2

2−
 = ----------------. 

(3)  If for G.P., T n = 3 n  then common ratio r = --------------. 

(4)  The Geometric Mean of 2 and 18 = ----------------. 

(5)  The 7
th

 term in expansion of 

6

1







+
x

x = --------------. 

(6)  If  5C
n

  =  4c
n

  then n = ---------------. 

(7)  If  A= 








10

01
, then A 2 = ------------. 

(8)  The value of  
θ
θ

tan

sec
   

θ
θ

sec

tan
 = --------------. 

(9)  If A= i   ̶ j + k  then A = --------------. 

(10)   If a = i + j , b  = j   ̶ k  then a .b = ------------. 

10 

 
 
 
 
 

(b) 
 
 
 
 

(1)  If the diameter of circle is 100cm and length of an arc is 25 cm, 

find the angle subtended by the arc at the centre of the circle. 

(2) Prove that,    cos
17

π
+ cos

17

5π
   +  cos 

17

12π
+ cos

17

16π
=0                          

02 

 

 

02 

 

Q(2) (a) Fill in the blanks  (Not necessary to show the calculation) 

(1) cos
6

π
   cos

4

π
   cos

3

π
   cos

2

π
 = ----------. 

(2)   sin 2 42 ° + sin 482 o = ------------. 

(3) The period of tan 3x = -------------. 

(4) If sin 15 o = 
4

26 −
 then sin 165 o = -------------. 

(5) If tanθ = 
3

1
 then   sin 2θ  = -------------. 

(6) In usual notations for ABC∆ , if a = 1 , b = 3, c = 6 , 

then s = ------------------- 

(7) In any ABC∆ , by second law of cosine(projection formula), 

07 
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c = -------------- 

 

  
(b) 
 

(1) If  a x = b y = c z , then prove that log a bc = x 


+




zy

11
, where   

x , y , z ≠ 0. 

(2) For a Geometrical Progression, T 5  = 81 and T 2 = 3, find T 3  and 

S 3 . 

 

 

04 

 

 

  03 

 

 

  OR 
 

 

 (b) (1) Solve the equation for x,    log ( )52 +x  + log ( )22 −x  = 3 

 

(2) Insert  5  Geometric Means between  320  and  5. 

04 

 

03 

 

 

   

 

Q.3 

 
(a) (1) Find middle term in the expansion of 

8

2

2 



−




y

x
 

(2) Find the approximate value of 102  , using binomial theorem. 

 

(3) If  A=  

















52

23

41

 and B= 















 −−

13

50

21

, Find 3A – 2B. 

 

03 

 

02 

 

 

02 

 (b) 
(1) Draw the graph of y = cos 

2

x
 , .20 π≤≤ x  

(2)  Prove that : tan 70 o ̶  tan 50 o  ̶  tan 20 o = tan 70 o tan50 o tan 20 o  

 

 

 

04 

 

03 

  OR  

Q.3 (a) 
(1) Find constant term in expansion of ( .

2
8

2

2 


−
x

x  
 

03 

 

  
 
 
 
 
 
(b) 

(2) Using binomial theorem expand )( 2

1

1
−− x  up to first three terms. 

 

(3) If A = 






 −

12

35
 then find A 1− . 

(1) Draw the graph of y = sin x, ̶  
22

ππ
≤≤ x  

 (2)  Prove that  :  tan10 o + tan 35 o  + tan10 o tan35 o =1 

                                                                                              

 

02 

 

 

02 

 

04 

 

03 

 

Q. 4 

 
(a) 

(1) If  A =  

















−

124

123

321

 find A 1−  

(2) Show that the angle between the vectors  i+2j  and  i+j+3k  is 

sin
55

461−  

 

03 

 

 

04 

 (b) (1) Solve the following equations, by matrix method,  

      3x + 2y = 7 and  11x – 4y = 3. 

 

03 
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 (2) If   a = 3 i  ̶  j  ̶  4 k ,    b =  ̶ 2 i +4 j  ̶ 3 k  and    c= i +2 j  ̶ k   
then find   the direction cosines of the vector  3a   ̶  2b + 4 c . 

 

04 

  OR 

 

 

Q. 4  
(a) 

(1) If  A = 

















−

−−

−

531

531

531

 then show that A 2 = A. 

 

(2) Forces  3 i   ̶  j +2 k   and  i + 3 j  ̶  k  act on a particle and 

particle moves form  2 i +3 j + k    to   5 i +2 j + k   under these forces. 

Find the work done by the forces. 

 

 

03 

 

 

 

04 

 (b) 
(1) If A = ,

43

21








then prove that A 2  ̶  5A  ̶  2I = 0. 

 

(2) Find a unit vector perpendicular to the plane of vector                

a = 5 i +7 j   ̶  2 k  and b = 3 i + j   ̶  2 k . 

03 

 

 

 

04 

    

Q.5 (a)  
(1) Prove that     A

AAA

AAA
3cot

5sin3sinsin

5cos3coscos
=

++
++

 

 

(2) Prove that      tan 1− 







2

1
+ tan 1− 








3

1
 = 

4

π
 

 

 

04 

 

 

03 

 (b) (1) In usual notations for ABC∆  prove that a = b cos C + c cos B 

 

(2) For ABC∆ , a = 7, b = 4 3 and c = 13 , find the measure of the 

smallest angle of the triangle. 

 

04 

 

03 

  OR 

 

 

Q.5 (a) 
(1) Prove that ,          =

++
−+

θθ
θθ

2cos2sin1

2cos2sin1
tanθ  

 

(2) Prove that      2 tan 1− 







3

1
 + tan 1− 








7

1
 = 

4

π
 

 

04 

 

 

03 

 

 (b) (1) In usual notations for ABC∆ , prove that b = a cos C + c cos A. 

 

(2) Solve the ABC∆ , having A = 30 o , b = 1 and c = 3 . 

 

04 

 

03 

************ 
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� 1   (અ)  ખાલી જ�યા �રૂો .(ગણતર� દશા�વવી જ�ર� નથી ુ )   
(1)  log 1 . log 2 . log 3 . log 4 = ---------------. 

(2) 3log
2

2−
 = ----------------. 

(3)  એક સમ#ણોતર $ેણી માટ ુ ' ,જો  T n = 3 n ,  તો સામા)ય 

#ણોતર  ુ r = --------------. 

(4)  2 અને 18 નો સમ#ણોતર મ*યક ુ =----------- 

(5)  

6

1







+
x

x  ના િવ.તરણ મા ંસાત0 ં પદ  ુ = --------------. 

(6)  જો 5C
n

  =  4c
n

  તો  n = --------------- 

(7)  જો   A= 








10

01
, તો  A 2 = ------------. 

(8)  
θ
θ

tan

sec
   

θ
θ

sec

tan
 = --------------. 

(9)  જો  A= i   ̶ j + k    તો  A = --------------. 

(10)  જો  a = i + j , b  = j   ̶ k  તો a .b = ------------. 

 

�� 

 (બ)  (1)  જો એક વ3�ળ  ના  5યાસ ની લબંાઈ ુ 100cm અને તેના એક 

ચાપ ની લબંાઈ   25 cm, હોય તો ચાપે ક)9 આગળ ;તરલો ' '

<ણો શોધોુ . 

2)  સા>બત કરો ક ' ,    cos
17

π  + cos
17

5π
   +  cos 

17

12π
+ cos

17

16π
=0                        

��  

 

 

 

��  

 

�.2 (અ) ખાલી જ�યા �રૂો .(ગણતર� દશા�વવી જ�ર� નથી ુ )   

(1)  cos
6

π
   cos

4

π
   cos

3

π
   cos

2

π
 = ----------. 

(2)   sin 2 42 ° + sin 482 o = ------------. 

(3) tan 3x  નો આવત�માન = -------------. 

(4) જો  sin 15 o = 
4

26 − ,હોય તો  sin 165 o = -------------. 

(5) જો  tanθ = 
3

1
 તો   sin 2θ  = -------------. 

(6) �ચ>લત સકંત �માણે ' ,જો  ABC∆ , મા ં a = 1 , b = 3, c = 6 , 

હોય તો  s = ------------------- 

(7) કોઇ પણ ABC∆ મા ંકોસાઇન ના બી@ િનયમ (�Aેપ BC ુ )  

�માણે  c = -------------- 

07 

    (બ) (1) જો   a x = b y = c z ,  હોય તો સા>બત કરો ક '  

     log a bc = x 


+




zy

11
, Dયા ં x , y , z ≠ 0. 

(2)  કોઇ પણ સમ#ણોતર $ેણી મા ં ુ , T 5  = 81 અને  T 2 = 3,  

હોય તો  T 3  અને  S 3 .શોધો  
 

�� 

 

 

��  
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  અથવા  
 

 

 (બ) (1)  x ની Eકમતં માટ સમીકરણ ઉકલો' ' , log ( )52 +x  + log ( )22 −x  = 3 

(2) 320 અને  5  વJચે  5 સમ#ણોતર મ*યકો  0કૂો ુ .  

�� 

��  

    

�    3     
    

    

    

    

    

    

    

(અ) 
(1) 

8

2

2 



−




y

x ના િવ.તરણ મા ંમ*યમ પદ શોધો.  

(2) LMપદ� �મેય  નો ઉપયોગ કર� ને 102  , ની આશર ક�મત શોધો '  

(3) .જો  A=  

















52

23

41

 અને  B= 















 −−

13

50

21

, હોય તો  3A – 2B શોધો  

 

��  

 

�� 

 

��  

 

 

 

 

 

 

 

(બ)  
 

 

 

 

 

(1) y = cos 
2

x
  નો આલેખ દોરો ,  ( .20 π≤≤ x  )  

(2)સા>બત કરો ક': tan 70 o ̶  tan 50 o  ̶  tan 20 o = tan 70 o tan50 o tan 20 o  

 

અથવા 
 

�� 

 

�� 

 

 

 

�.3 
 

(અ)  (1) ( .
2

8

2

2 


−
x

x  ,ના િવ.તરણ મા ંઅચલ  પદ શોધો 
��  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(બ)  

(2) )( 2

1

1
−− x  નો LMપદ� �મેય  થી  �થમ Cણ પદો Bધી િવ.તરણ ુ

કરો  

(3) જો  A = 






 −

12

35
 તો  A 1− .શોધો . 

(1) y = sin x, નો આલેખ દોરો , ( ̶  
22

ππ
≤≤ x )  

 (2)  સા>બત કરો ક '   :  tan10 o + tan 35 o  + tan10 o tan35 o =1                                     

 

�� 

 

��  

 

��  

 

�� 

    

    

�    4    
    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

    

 

(અ)  
 

 

 

 

 

(બ)  
 

 

 

 

 

 

 

 

 

(1) જો A =  

















−

124

123

321

    તો A 1−  શોધો  

(2)સા>બત કરો ક '   .સEદશો  i+2j  ,અને   i+j+3k  વJચે નો <ણૂો 

   sin
55

461−  છે 

(1) $ેણીક ની  મદદ થી નીચે ના સમીકરણો નો ઉકલ મેળવો '  

      3x + 2y = 7 અને 11x – 4y = 3. 

 

(2) જો   a = 3 i  ̶  j  ̶  4 k ,    b =  ̶ 2 i +4 j  ̶ 3 k   અને    c= i +2 j  ̶ k  

હોય તો સEદશ   3a   ̶  2b + 4 c . ના EદPોસાઇન મેળવો  
 

અથવા 
 

 

03 

 

 

04 

 

 

 

��  

 

 

��, 
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�    4     
    

    

    

    

    

    

    

    

    

    

    

    

�    5     
    

    

    

    

    

    

    

    

    

    

    

�    5     
    

    

    

    

    

        

 

(અ)  
 

 

 

 

 

 

(બ)  
 

 

 

 

 

(અ)  
 

 

(બ)  
 

 

 

 

 

 

(અ) 
  
 

 

 

 

(બ) 

(1) જો  A = 

















−

−−

−

531

531

531

 હોય તો સા>બત કરો ક '  A 2 = A. 

(2) એક કણ પર લાગતા  બળો  3 i   ̶  j +2 k   અને   i + 3 j  ̶  k ,  

   તે કણ ને  2 i +3 j + k    થી   5 i +2 j + k   Bધી ખસેડ છે તો તે ુ '  

   બળો થી થયેR કાય� શોધો ુ  

(1) જો A = ,
43

21








હોય તો સા>બત કરો ક '  A 2  ̶  5A  ̶  2I = 0. 

(2)સEદશ  a = 5 i +7 j   ̶  2 k  ,અને b = 3 i + j   ̶  2 k .પર લબં એકમ  

.   સEદશ મેળવો   
 

(1) સા>બત કરો ક '      A
AAA

AAA
3cot

5sin3sinsin

5cos3coscos
=

++
++

 

(2) સા>બત કરો ક '      tan 1− 







2

1
+ tan 1− 








3

1
 = 

4

π
 

(1) �ચ>લત  સકંતો '  મા ં ABC∆  માટ સા>બત કરો ક ' ' ,   
      a = b cos C + c cos B 

(2) ABC∆ માટ '  a = 7, b = 4 3 અને  c = 13 , હોય તો સૌથી નાના  

<ણા T ં માપ  શોધોુ ુ . 

                                   અથવા 
 

(1)  સા>બત કરો ક',    =
++
−+

θθ
θθ

2cos2sin1

2cos2sin1
tanθ  

 

(2) સા>બત કરો ક',    2 tan 1− 







3

1
 + tan 1− 








7

1
 = 

4

π
 

 

(1) �ચ>લત  સકંતો '  મા ં ABC∆ ,માટ સા>બત કરો ક ' '  

 b = a cos C + c cos A. 

(2) જો  ABC∆   મા A = 30 o , b = 1 અને c = 3   હોય તો   

    ABC∆  નો ઉકલ શોધો '  

 

��  

 

 

�� 

 

 

 

��  

 

�� 

 

 

 

�� 

 

��  

 

��  

 

��  

 

 

 

0�  

 

 

0�  

 

0�  

 

0�  
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